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1) Round 29.825 to the nearest 10 2) Find the mode of the following set of data: 3) b
157, 157, 157, 157, 36, 36, 36, 36,
70, 70
a o c
Measure angle boa
Answer: Answer: Answer:
4) 20/ +8,4 5) Find perimeter of 6)
. triangles=8512m Find the next three numbersin
the sequence
< 0112358 , ,
Answer: Answer: Answer:
7) 2012,y + 716/, 8  34x1000 9) 3110-51,
Answer: Answer: Answer:
10) 8737 + 9469 11) 9496 - (-4291) 12) 3/1 43 Of 286
Answer: Answer: Answer:
13) Factorisex2 + 7x + 10 14) 'What isthe probability of rolling 15) Find area of square
factors of 1.when rolling adice having each side (s)
s equals 2937 cm
s
Answer: Answer: Answer:
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16)  (-26)x 88

17) Anamount was increased by 5.4% to
$31.00. Find the original amount.

18) Convert thefollowing fractioninto a
mixed number: 55/,

Answer: Answer: Answer:
19) 3720 + (-62) 20) Find the mode of the following set of data: 21) 40/ 6% 30/10
11,11, 112,11, 11, 11, 35, 35, 35,
35, 35, 35, 195, 195, 195, 135, 135
Answer: Answer: Answer:
22) Find perimeter of 23) Factorise g2+ 12q + 20 24)
sguare having each Find VVolume of
s side (s) equals 7180 in Pentagonal Pyramid
40
s
Answer: Answer: Answer:

25) Decrease 56 by Yg

Answer:

26) 318, + 239,

Answer:

27)
Find the next three numbersin

the sequence

75,78,390,393,1965,1968,9840_, , |

Answer:

28) Convert the following fraction into a
mixed number: 21/,

Answer:

29)  What would you multiply by to
increase an amount by 12%?

Answer:

30) Increase 118 by 71%

Answer:
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31)  (-4288)- 6289 32) 6 24, 33) 16+ 24,
Answer: Answer: Answer:
34) 35) Convert the following fraction into a 36) Increase 36 by 1/9
34 Find Volume of mixed number: 5/,
_ 33 | Cylinder
=
Answer: Answer: Answer:
37) Find the mode of the following set of data: 38) Decrease 51 by 2/17 39) Find the mode of the following set of data:
39, 39, 39, 39, 39, 39, 153, 153, 60, 60, 60, 60, 171, 171, 171, 54,
153, 94, 94, 181, 181, 181, 181 54, 54, 54, 54, 186, 186, 186, 186
Answer: Answer: Answer:
40) Share 42 in theratio 10:32 41) 'What isthe probability of rolling a 42) Find perimeter of
multiple of 2.when rolling adice triangle
b ¢t a=9507ft b=
9715 ft,
a c = 9723ft
Answer: Answer: Answer:
43) Find the median of the following set of data: 44) A number was shared in the ratio 45) 25/13 X 34/6
22, 13, 29, 40, 15, 31, 24, 14, 15, 5:84. The smaller share was 100.
13,22, 34, 31, 10, 12, 4, 21, 28, 13, What was the larger amount?
25
Answer: Answer: Answer:
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46) Convert the following mixed number 47)  Factorise 82 + 27q + 19 48) 1205 + 1649
3412 into an improper fraction.
11
Answer: Answer: Answer:
49) Find perimeter of 50) Y, +15, 51)  Simplify 64:95
sguare having each
s side (s) equals 8800 m
s
Answer: Answer: Answer:
52) 53) A number was shared in theratio 54)  Increase 41 by 72%
2:94. The smaller share was 8. What
was the larger amount?
‘Name the type of angle.
Answer: Answer: Answer:
55)  Findthemean of thefollowing set of detax 56)  Round 9.55874 to the nearest whole 57) 1215381,
0.2,4,04,0.6, 16, 0.4 number.
Answer: Answer: Answer:
58) Find perimeter of 59) Find the percentage change from 282 60) (12+15)+(14-1)
a p triangle to 141
h=7818,a=9722
c ft,
b=9799ft,c=
9915ft
Answer: Answer: Answer:
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61) Decrease 98 by %/,q

62) (2x 11 + (10 x 48)

63) 1932+ 23

Answer:

Answer: Answer: Answer:
64) 1170.1+4161.4 65) Find perimeter of 66) Find perimeter of
b rectangle having square having each
sidesa=9166 m s side (s) equals 2892 m
a and b = 8900 m
s
Answer: Answer:

67) Solve by factorising

68) Share 22 intheratio 5:17

69)  Y,g0f 120

2 +6s+8=0
Answer: Answer: Answer:
70) Find perimeter of 71) Increase 102 by 1/17 72) A number is chosen at random from
a p triangle 1 to 75. Find the probability of
h=5627 , a= 8465 selecting factors of 18 and 19.
c in,

b=9271in,c=
9809in

Answer: Answer: Answer:

73) 378g x 2721

Answer:

74)  28x 1000

Answer:

75) Convert the following fraction into a
mixed number: 66/,

Answer:
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76) 77) 2, .8, 78)
38 L Find Volume of Cone
c’ A =59 B
37 Find the Angle at side B.
Answer: Answer: Answer:
79) 80) 81)
40_2~ Find Volume of Find Volume of
Cylinder Pentagonal Pyramid
Volume of Cone 38
39
Answer: Answer: Answer:

82) 7x2+10x10 83) A number was shared in theratio 84)  2580.9 + 3397.8
97:11. The smaller share was 33.
What was the total amount shared?
Answer: Answer: Answer:
85) (10x 98) + (7x 89 86) Convert the following improper 87) (-53) x (-36)
fraction 311/¢ + 407/ into amixed
number
Answer: Answer: Answer:
88) (-53) x (-36) 89) -1, 90) Find perimeter of
square having each
s side (s) equals 6752 cm
s
Answer: Answer: Answer:
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91) What would you multiply by to
increase an amount by 49%?

Answer:

92)  (-55)x67

Answer:

SATS
GCSES
93) A number is chosen at random from
1to 75. Find the probability of
selecting even number.

Answer:

94) A number is chosen at random from

95) Find the percentage change from 276

96)  (-1140) + (-95)

Answer:

37,38, 29, 28,33, 8,14, 7, 35, 4, 4,
23, 40, 40, 22, 28, 38, 8, 16, 19

Answer:

1 to 75. Find the probability of to 414
selecting even number.
Answer: Answer: Answer:
97) (-8211) - 1235 98) Find the median of the following set of data: 99) $35.18 earning 6% compound

interest for 6 years.

Answer:

100) Convert the following fraction into
amixed number: 62/,

Answer:

Total: /100
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1) 29.8 2) 157
8) 34000 9) 2%,
15) 8625969cm  16)
22) 28720in 23) (g + 2)(q + 10)
29) 1.12 30) 201.78
36) 40 37) 39
43) 175 44) 1680
50) g 51) 64 : 95
57) 24 58) 29436ft
64) 5331.5 65) 36132m
71) 108 72) %,
78) 121 79) 63711.499014801
3
85) 430467658 86) 729/,
37,
92) 93) 37/
99) $49.90 100) 419/, 5
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3)32

10) 18206

17) $29.41

24) 36703.517879231
31) -10577

38) 45

45) 103544

52) Straight

59) -50%

66) 11568m

73) 1031%

80) 27926.402495923
87)

94) STl

Answers:

8
4) 48 4
11) 13787

17

18) 217/,
25) 49

5,
32) %/,
39) 54

46) 386

53) 376

60) 40
67)s=-2o0r-4

74) 28000

81) 33124.924886006
88)

95) 50%

MATHS WORKSHEET %«'

GEMERA

5) 25536m
12)6

19) -60

26) 170365
33) %,
40)1:41

47) (8 +19)(q
+1)

54) 70.52
61) 94
68)1:21
75) 22

82)

89) 259/, 45
96) 12

Sr: 04042020-1355

6) 13,21,34,

13) (x + 2)(x + 5)

20) 11

27) 9843,49215,49218,
34) 29080.152397954
a1,

48) 2854

55) 3.6

62) 655362

69) 8

76) 13619.327752087
83) 324

90) 27008cm

97) -9446

11-PLUS
SATS
GCSES

A0
{'”ﬂ'—)

217
7) 22470
1
14) Y
2,
21) 27
28)7
3
35) 13/
42) 28045ft

49) 35200m

56) 10
63) 84

70) 27545in
77) 3g

84) 5978.7
91) 1.49
99) 4

http://www.geekschool.co.uk



http://www.geekschool.co.uk

